
English 9th Class Chapter 10 Online Test

Sr Questions Answers Choice

1 She will be .............. her lesson in music in the morning.
A. take
B. took
C. taken
D. taking

2 We have .............. the football match.
A. win
B. been won
C. won
D. had won

3 They .............. taking exercise since morning.
A. are
B. have been
C. has been
D. were

4 Girls were ...........
A. sing
B. sings
C. sung
D. singing

5 I .......... her in the plane.
A. meet
B. am meeting
C. met
D. have been meeting

6
Choose the correct option according to the grammar
I am glad 'that you like it. The underlined clause is an adverb clause of:

A. condition
B. place
C. time
D. reason

7

Choose the correct option according to the grammar
After the thief had stolen money, he left home quickly. The underlined part of the
sentence is a/an:

A. adverbial clause of time
B. adverbial clause of place
C. adverbial clause of reason
D. adverbial clause of concession

8
Choose the correct option according to the grammar
The transitional device "on the whose" is used for:

A. comparison
B. exemplification
C. summarization
D. sequencing

9
Choose the correct option according to the grammar
Identify the transitional device in the following:

A. moreover
B. over
C. beside
D. quietly

10

Choose the correct option according to the grammar
Ahmad is very rich man. However,he never helps his poor relatives. The underlined
word is a/an.

A. conjuction
B. pronoun
C. transitional device
D. adjective

11 Choose the correct option according to the grammar:She sings exactly like a classical singer.
The underlined clause is a/an

A. Adverb clause
B. Adjective clause
C. Noun clause
D. None of these

12 Choose the correct option according to the grammar:Pakistan army is very brave. The
underlined word is a/an

A. abstract noun
B. Collective noun
C. Material noun
D. Countable noun

13 Choose the correct option according to the grammar:My parents love me. The underlined
word is a/an

A. Reflexive pronoun
B. Indefinite pronoun
C. Exclamatory pronoun
D. Personal pronoun

14 Choose the correct option according to the grammar:How beautiful the child is! This is an

A. assertive sentence
B. Interrogative sentence
C. Exclamatory sentence
D. Imperative sentence

15 Choose the correct meaning of the underlined word:Addicts undergo numerous economic,
social and health problems.

A. Forget
B. Avoid
C. Suffer
D. Hide



16 Choose the correct meaning of the underlined word:Drug addiction is really a very serious
threat to any society.

A. Aid
B. Danger
C. Safety
D. Reaction

17 Choose the correct meaning of the underlined word:These centres look after them.
A. Refuse
B. Neglect
C. Attend
D. Leave

18 Choose the correct meaning of the underlined word:Its continuous use cause total
dependence on the drug.

A. Complete
B. Temorary
C. Occasional
D. Constant

19 Choose the correct meaning of the underlined word:The order factor that contributes in
rehabilitation of the drug victim is proper Counselling.

A. Trick
B. Praise
C. Guidance
D. Act


